Homework for Tuesday, April 30

Sample Answers  

(x(y~(Fx v Gy) |- ~(x(Gx v Fx)
        1  (1)  (x(y~(FxvGy)         A
        2  (2)  (x(GxvFx)            A [for RAA]
        1  (3)  (y~(FavGy)           1 (E
        4  (4)  ~(FavGb)             A [for (E on 3 b]
        4  (5)  ~Fa&~Gb              4 DM
        4  (6)  ~Fa                  5 &E
        2  (7)  GavFa                2 (E
      2,4  (8)  Ga                   6,7 VE
        1  (9)  (y~(FcvGy)           1 (E
       10  (10) ~(FcvGa)             A [for (E on 9 a]
       10  (11) ~Fc&~Ga              10 DM
       10  (12) ~Ga                  11 &E
     4,10  (13) ~(x(GxvFx)           8,12 RAA(2)
     1,10  (14) ~(x(GxvFx)           3,13 (E(4)
        1  (15) ~(x(GxvFx)           9,14 (E(10)
  (y(x(Fy & Kx), (y(Ky -> ~Hy) |- ~(x(Fx -> Hx)
        1  (1)  (y(x(Fy&Kx)          A
        2  (2)  (y(Ky->~Hy)          A
        3  (3)  (x(Fx->Hx)           A [for RAA]
        1  (4)  (x(Fa&Kx)            1 (E
        5  (5)  Fa&Kb                A [for (E on 4 b]
        2  (6)  Kb->~Hb              2 (E
        3  (7)  Fb->Hb               3 (E
        5  (8)  Kb                   5 &E
      2,5  (9)  ~Hb                  6,8 ->E
    2,3,5  (10) ~Fb                  7,9 MTT
        1  (11) (x(Fb&Kx)            1 (E
       12  (12) Fb&Kc                A [for (E on 11 c]
       12  (13) Fb                   12 &E
   2,5,12  (14) ~(x(Fx->Hx)          10,13 RAA(3)
    1,2,5  (15) ~(x(Fx->Hx)          11,14 (E(12)
      1,2  (16) ~(x(Fx->Hx)          4,15 (E(5)
  (x~Fx -> (x(Hx -> Gx), (xHx  |- (xFx v (xGx
        1  (1)  (x~Fx->(x(Hx->Gx)    A
        2  (2)  (xHx                 A
        3  (3)  ~((xFxv(xGx)         A [for RAA]
        3  (4)  ~(xFx&~(xGx          3 DM
        3  (5)  ~(xFx                4 &E
        3  (6)  (x~Fx                5 QE
      1,3  (7)  (x(Hx->Gx)           1,6 ->E
        8  (8)  Ha                   A [for (E on 2 a]
      1,3  (9)  Ha->Ga               7 (E
    1,3,8  (10) Ga                   8,9 ->E
    1,3,8  (11) (xGx                 10 (I
        3  (12) ~(xGx                4 &E
      1,8  (13) (xFxv(xGx            11,12 RAA(3)
      1,2  (14) (xFxv(xGx            2,13 (E(8)
  (x(Fx v Gx), (x(Fx -> Hx), ~(xGx |- (xHx
        1  (1)  (x(FxvGx)            A
        2  (2)  (x(Fx->Hx)           A
        3  (3)  ~(xGx                A 
        1  (4)  FavGa                1 (E
        2  (5)  Fa->Ha               2 (E
        6  (6)  ~(xHx                A [for RAA]
        6  (7)  (x~Hx                6 QE
        6  (8)  ~Ha                  7 (E
      2,6  (9)  ~Fa                  5,8 MTT
    1,2,6  (10) Ga                   4,9 VE
    1,2,6  (11) (xGx                 10 (I
    1,2,3  (12) (xHx                 3,11 RAA(6)
 

 (x(Fx & (Gx v Kx)), ~(x(Kx <-> Fx) |- (x(Fx & Gx)
        1  (1)  (x(Fx&(GxvKx))       A
        2  (2)  ~(x(Kx<->Fx)         A
        1  (3)  Fa&(GavKa)           1 (E
        1  (4)  Fa                   3 &E
        1  (5)  GavKa                3 &E
        2  (6)  (x~(Kx<->Fx)         2 QE
        2  (7)  ~(Ka<->Fa)           6 (E
        2  (8)  ~Ka<->Fa             7 NEG<->
      1,2  (9)  ~Ka                  4,8 BP
      1,2  (10) Ga                   5,9 VE
      1,2  (11) Fa&Ga                4,10 &I
      1,2  (12) (x(Fx&Gx)            11 (I
  (x(Fx v Gx), (xFx -> (xHx, (xGx -> ~(xHx |-

  ~((xHx & (x~Hx)
        1  (1)  (x(FxvGx)            A
        2  (2)  (xFx->(xHx           A
        3  (3)  (xGx->~(xHx          A
        4  (4)  (xHx&(x~Hx           A [for RAA]
        4  (5)  (x~Hx                4 &E
        4  (6)  (xHx                 4 &E
      3,4  (7)  ~(xGx                3,6 MTT
      3,4  (8)  (x~Gx                7 QE
      3,4  (9)  ~Ga                  8 (E
       10  (10) FavGa                A [for (E on 1 a]
   3,4,10  (11) Fa                   9,10 VE
   3,4,10  (12) (xFx                 11 (I
    1,3,4  (13) (xFx                 1,12 (E(10)
  1,2,3,4  (14) (xHx                 2,13 ->E
        4  (15) ~(xHx                5 QE
    1,2,3  (16) ~((xHx&(x~Hx)        14,15 RAA(4)

  

(xFx v (xGx |- (x(Fx v Gx)
        1  (1)  (xFxv(xGx            A
        2  (2)  ~(x(FxvGx)           A [for RAA]
        2  (3)  (x~(FxvGx)           2 QE
        2  (4)  ~(FavGa)             3 (E
        2  (5)  ~Fa&~Ga              4 DM
        2  (6)  ~Fa                  5 &E
        2  (7)  (x~Fx                6 (I
        2  (8)  ~(xFx                7 QE
      1,2  (9)  (xGx                 1,8 VE
        2  (10) ~Ga                  5 &E
        2  (11) (x~Gx                10 (I
        2  (12) ~(xGx                11 QE
        1  (13) (x(FxvGx)            9,12 RAA(2)
